Roald Dahl Maths Challenge Cards LKS2 Answers

Question | Answer

1 Mr Fox's tail is now 3cm long

2 Charlie ate 21 bowls of cabbage soup.

3 The walking stick would be 36cm longer.

4 The Centipede has 90 feet.

5 Grandma is 120 years old!

6 Mike Teavee watches television for 36 hours a week.

7 Mrs Twit could buy six tins of spaghetti and would get 2p change.

8 Miss Trunchbull drop-kicked the child 141 metres.

9 Matilda had read 6 books.

10 Willy Wonka has 27 Oompa-Loompas working for him.

» Willy Wonka is going to package his new bar in a triangular prism-
shaped box.

12 The peach needs to travel another 115km.

13 The boys spent £54 on new trousers.

14 The BFG would need 10 shelves.

15 Farmer Boggis weighs 126kg.

16 6 people voted for the Scrumdiddlyumptious Bar more than the Chocolate
Whipple Bar. 54 people voted in total.

17 Mr Salt had to spend £1336 to keep Verruca quiet.

18 George poured 125ml of Golden Gloss Shampoo into his medicine.

19 It will take the silkworm 40 minutes to spin enough silk to attach to
eight seagulls.

20 Matild.a read 12 books in Weel? 1, 10 books in Week 2, 8 books in Week 3, 6
books in Week 4 and 4 books in Week 5

21 The Mugglewumps cage had a perimeter of 270cm.

22 Children bought 57 of the Roald Dahl books sold.

23 Mr Wormwood made a profit of £1789.

24 The BFG caught 2920 dreams in a year (or 2928 in a leap year!)

25 James weighs 27kg, Aunt Spiker weighs 54kg and Aunt Sponge weighs 108kg

26 The machine can make 2082 Scrumdiddlyumptious bars every hour.

27 Bullock A weighs 1245kg and Bullock B weighs 986kg.
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28 They were trapped for 3 days, 15 hours and 15 minutes.
29 The Roly-Poly Bird needs to fly another 1887km.
30 The peach will be 9216cm after five minutes.
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